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(m) (m) (kN/m) 6 8t (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/m%#E% % — -~ = —|3mZzBZB| — ~ - — — | 100kN/MZ#BZ % — - ~ — —|3mZi#BZ3 - ~ — — —
Zzh s 100|000 ~ 475 59.20 | =hAs | 0.00 ~ 0.00]| 1.67 8.45 Zzh s 1.001]56.00 ~ 5.00 59.20 | =hS | 5.00 ~ 5.00)| 1.67 8.45
2 100kN/mM#%#EZ % — -~ = —|3mZzBZB| — ~ - — — | 100kN/MZ#BZ % — - ~ — —|3m%i#BZ3 - ~ — — —
Zzh s 1.00 | 000 ~ 653 8224 | =hds | 000 ~ 000|167 8.45 Zzh s 1.00]56.00 ~ 7.90 8224 | ThS | 5,00 ~ 7.90| 1.67 8.45
3 100kN/m#%#8%5| 1.00| 000 ~ 0.77| 111.55 |3mEBZZ| — ~ — — — | 100kN/mi%#Z23 | 1.00 | 11.19 ~ 1350 111.55 |3mZE#BZ3 -~ — — —
Zzh s 1001077 ~ 856 100.00 | =05t | 000 ~ 856|238 12.02 Zzh s 1001500 ~ 1119 100.00 | #hdst | 5.00 ~ 1350| 2.38 12.02
4 100kN/mM#%#EZ % — - ~ —|3mZzBZB| — ~ - — — | 100kN/MZ#BZ % — - ~ — —|3m%i#BZ3 - ~ — — —
Zzh s 1.00 000 ~ 704 89.37 | Ehdst | 000 ~ 704|280 14.14 Zzh s 1.00|5.00 ~ 1440 89.37 | #hs | 6.00 ~ 1440] 2.80 14.14
5 100kN/mM#%#EZ % — -~ = —|3mZzBZB| — ~ - — — | 100kN/MZ#BZ % — - ~ — —|3m%i#BZ3 - ~ — — —
Zzh s 1.00 000 ~ 635 79.81 | TN | 000 ~ 635|275 13.87 Zzh s 1.00|5.00 ~ 1120 79.81 | =nS | 6,00 ~ 11.20) 275 13.87
6 100kN/mM#E#EZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/MZ#BZ % — - ~ — —|3m%Ei#BZ3 - ~ — — —
Zzh s 100|000 ~ 384 4825 | =N 000 ~ 381|232 11.73 Zzh s 1.00]56.00 ~ 6.50 4825 | #nS | 5,00 ~ 6.60| 232 11.73
7 100kN/mM%#EZ % — -~ = —|3mZzBZB| — ~ - — — | 100kN/MZ#BZ % — - ~ — —|3m%i#BZ3 - ~ — — —
Zzh s 1.00 | 000 ~ 404 50.61 | Thds | 000 ~ 404|206 10.43 Zzh s 1.001]56.00 ~ 5.00 50.61 | Ths | 6.00 ~ 5.00] 2.06 10.43
100kN/mM#%#EZ % ~ ImERBZD ~ 100kN/m%Z#8% % ~ ImEBZD ~
ZhLlst ~ Zhst ~ ZhLlst ~ Zhst ~
100kN/mM#%#EZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZD ~
ZhLlst ~ Zhs ~ ZhLlst ~ Zhst ~
100kN/mM%E#EZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEHBZD ~
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100kN/mM%#EZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZD ~
ZhLlst ~ Zhst ~ ZhLlst ~ Zhst ~
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